JZEI G | = |









A TR B T AR B BN R B S TR B A
(% A)
K01 MPEIA
T 01 MPETEIARA

i 5 Bl %
H I Hi HOE H
£ R < 7 S T
01 REPEFBHAILA 27,671, 000 27,671, 424
01 THIFEFAULA 27,671, 000 27,671, 424
I & 3 27,671, 000 27,671, 424
> & 2 27,671, 000 27,671, 424
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(Hpr 1)

I N % B | A RBERE|IARF S i =
(3% fF R % %)
27,671, 424 TRBUEHRHER
S IR K| 27,671, 000
27,671, 424 T FE AU A
27,671, 424 TR BUEERT R
)T A 27,671, 000
27,671, 424 THEBUEERT R
W) T A 27,671, 000
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02 AL
TH 01 it AL
¥ L ) #E
H R i E %8
F 2 ik
RBLF E = &
01 —fxiHig A4 1, 000
01 —fxEFHiA 1, 000
&
TH & = 1, 000
7 & H 1, 000
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(Hpr F)

] RN N RN S i )
T R & %)
TR IR
LRT AR 1,000
TRIVERIR
LR T HER 1,000
TR IR
LR T AR 1,000
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03 A
H 01 #Eee

i L Bl %
H I i HOE #
£ B = pas = e
01 b4 165, 083, 600 165, 083, 922
01 Hij4FE B il 4> 165, 083, 600 165, 083, 922
IH as 3 165, 083, 600 165, 083, 922
F/e & 2 165, 083, 600 165, 083, 922
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(Hpr F)

AN B OB AR BE| I A R BB fid =
(38 T & % &)
165, 083, 922 TRBBHR AR
EXIRig X 152, 327, 000
fHIE T AR 734, 000
B R SE R U R e 4 A
12, 022, 600
165, 083, 922 P B e 4 153, 061, 322
R B Fr
BN 3 < 12, 022, 600
165, 083, 922 TREBUEEGER
M) TR 152, 327, 000
fHIE T FA 734, 000
B R SE U R e 4 A
12, 022, 600
165, 083, 922 TREBUEEGER
L) T EAA 152, 327, 000
fHIE T HAA 734, 000
B SE U R e 4 4R
12, 022, 600
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04 FEULA
IH 01 JE&RIT
%
H %H 2 W€ KA
- X o) #H
01 FHEHF 1, 000 3, 443
TASF T 1, 000 3, 443
IH & i 1, 000 3, 443
Es = B 1, 000 3, 443
w AN B F 192, 756, 600 192, 758, 789
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(Hpr F)

N % M | AWM R BEREI AR i =
(38 fF & % %)
3, 443 TRBUEEG AR
YW T HEAE 1, 000
3, 443 THBFF
3, 443 TRBUEEGNAR
YW T EAA 1, 000
3, 443 TR BUEEGAR
YW T KA 1, 000
192, 758, 789 TREBUEEGAR
S IR K| 180, 000, 000
i E T AR 734, 000
Heb S T R 7 4 A
12, 022, 600
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O HD)
xO01 LTHhEEE
TH 01 T HUEE R

¥ & El P
H I i X W %
A X % TR
01 +HiEUS# 18, 405, 600 6, 386, 020
17 NEMEEA 9, 955, 600 5, 304, 698
#

22 flfE. AibE K 8, 450, 000 1,081, 322

U5 4
I & 2 18, 405, 600 6, 386, 020
&* & 3 18, 405, 600 6, 386, 020
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(Hpr F)

WA R B A ~ B # fid =
12,019,580 | FHIIZHFPIR
SR K| 6, 383, 000
kAo 2 Mo OVl = 3 e il 4R 12, 022, 600
4, 650, 902 @g%&ﬁ%%mﬂm% 763, 951
O3l & it B 3 H M US: 763, 951
7, 368, 678 #
< N PERE AN E 763, 951
T % H 763, 951
OH I F 3 H U S 2 1,270, 139
O & 2 H h HUS 2 1,270, 139
« INF A ERE B 1, 270, 139
18 I Hh 1, 270, 139
B R
O % o B =35 A Hh B
#
O FE o B 2 FH S
#
AR B AN AR 1, 703, 000
OB LA RFHE 4,061, 322
FH H S 2
ORBL LR RFH¥E 4,061, 322
FH H S 2
- N M ERAE 2,980, 000
18 % FH 2,980, 000
- WHAE. flEE N OIS 4 1,081, 322
WA 1,081, 322
MR F AN AR 1, 165, 678
OHT I F7 36 H H HUAS 22 290, 608
O F 2 H S & 290, 608
- NEPENEAE 290, 608
18 [ Hh 290, 608
MR F R AN AR 4, 801, 992
12,019,580 | TPHEIVKAFFNGR
L) T A 6, 383, 000
e e S UMl = 26 2 Ml AR 12, 022, 600
12,019,580 | TPHEIVKHFINGR
BT EER 6, 383, 000
kot 2 Mo OVl = 3 2 il 48 12, 022, 600
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®02 TR
H 01 TiEE

¥ 5 ) B
H e = g * M B
o Gt = g = e
01 FPliFgr 174, 351, 000
29 Tme 174, 351, 000

T & 3 174, 351, 000
%A = 174, 351, 000
oA F 192, 756, 600 6, 386, 020
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(HAr 1)

B RE M B %E ~ B % i =
174,351,000 | TRBVEEEHPER
TR 173,617, 000
fHIE T HKA 734, 000
174, 351, 000
174,351,000 | TREIEEHPER
)T R 173,617, 000
fHIE T HAA 734, 000
174,351,000 | TRIEEHHER
=T R 173, 617, 000
fHIE T HAA 734, 000
186, 370,580 | FHEIIAHFPIFR
S YR X 180, 000, 000
fHIE T HEKA 734, 000
lefoe e K UMl = 35 2 oA 12, 022, 600
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